A loading car 1s at rest on a track forming an angle of 25° with the ver-
tical. The gross weight of the car and 1ts load 1s 5500 Ib, and 1t acts at
point G. Knowing the tension in the cable connected at C 1s 3000 Ib,
determine (a) the acceleration of the car, (b) the reaction at each pair

of wheels.
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A uniform rod of length L and mass m 1s supported as shown. If the
cable attached at end B suddenly breaks, determine (a) the accelera-
tion of end B, (b) the reaction at the pin support.
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A uniform slender rod of length L = 36 in. and weight W = 4 b hangs
freely from a hinge at A. If a force P of magnitude 1.5 1b 1s applied at
B horizontally to the left (h = L), determine (a) the angular accelera-
tion of the rod, (») the components of the reaction at A.
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